mathrm a'N

58000
i ®)

=
X000
PE000
£
18000
18000
©
18000
<

©
12000
QI—
8000
£
$000
e
5000

4000
S

%ooo
=

Ratio to CMS
[N

0.5

Rivet 3.1.10, = 3.4M events

13000 GeV pp S
-~ | +
- Groomed Width)\_l1 (charged only) (CMS jet substructure) -
- = -
—— --8-- Pythia 6.428 391 ]
— - <~ Pythia 6.428 393 _
[ --e-- Pythia 6.428 394 =
[ ---¥-- Pythia 6.428 395 ]
% =
Y —
—® =
- & -
— & ]
- &y E
e o e i -

l . L . L . l . l
0 0.5 1

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

groomed width (charged-only)



	Contents
	Page 1


